

LA TABLE DU 5

1. Entoure la bonne réponse.

$5 \times 3 = 10 - 15 - 20 - 25$

$5 \times 1 = 1 - 0 - 6 - 5$

$5 \times 11 = 50 - 60 - 65 - 55$

$5 \times 5 = 20 - 25 - 35 - 45$

$5 \times 7 = 35 - 40 - 45 - 37$

$5 \times 8 = 45 - 36 - 48 - 40$

$5 \times 4 = 9 - 25 - 20 - 10$

$5 \times 10 = 15 - 55 - 50 - 510$

$5 \times 0 = 1 - 5 - 0 - 10$

$5 \times 2 = 10 - 15 - 52 - 7$

$5 \times 6 = 30 - 11 - 1 - 35$

$5 \times 9 = 35 - 45 - 55 - 65$

2. Écris ta réponse.

$5 \times 0 = \dots\dots 0 \dots\dots$

$5 \times 1 = \dots\dots 5 \dots\dots$

$5 \times 2 = \dots\dots 10 \dots\dots$

$5 \times 3 = \dots\dots 15 \dots\dots$

$5 \times 4 = \dots\dots 20 \dots\dots$

$5 \times 5 = \dots\dots 25 \dots\dots$

$5 \times 6 = \dots\dots 30 \dots\dots$

$5 \times 7 = \dots\dots 35 \dots\dots$

$5 \times 8 = \dots\dots 40 \dots\dots$

$5 \times 9 = \dots\dots 45 \dots\dots$

$5 \times 10 = \dots\dots 50 \dots\dots$

$5 \times 11 = \dots\dots 55 \dots\dots$

3. Écris le nombre manquant.

$5 \times \dots\dots 1 \dots\dots = 5$

$\dots\dots 7 \dots\dots \times 5 = 35$

$5 \times \dots\dots 8 \dots\dots = 40$

$\dots\dots 9 \dots\dots \times 5 = 45$

$5 \times \dots\dots 4 \dots\dots = 20$

$5 \times \dots\dots 0 \dots\dots = 0$

$5 \times \dots\dots 6 \dots\dots = 30$

$\dots\dots 3 \dots\dots \times 5 = 15$

$\dots\dots 10 \dots\dots \times 5 = 50$

$\dots\dots 8 \dots\dots \times 5 = 40$

$5 \times \dots\dots 11 \dots\dots = 55$

$\dots\dots 11 \dots\dots \times 5 = 55$

$\dots\dots 4 \dots\dots \times 5 = 20$

$\dots\dots 5 \dots\dots \times 5 = 25$

$5 \times \dots\dots 9 \dots\dots = 45$

$\dots\dots 0 \dots\dots \times 5 = 0$

$5 \times \dots\dots 2 \dots\dots = 10$

$\dots\dots 2 \dots\dots \times 5 = 10$

$5 \times \dots\dots 10 \dots\dots = 50$

$\dots\dots \times 5 = \text{erreur}$

$5 \times \dots\dots 7 \dots\dots = 35$

$5 \times \dots\dots 3 \dots\dots = 15$

$\dots\dots 6 \dots\dots \times 5 = 30$

$5 \times \dots\dots 5 \dots\dots = 25$